1.

Sx—y+14 =09 227t F A (a,4),(1,b) EAE W, a+b 9

%2

@D 7 ® 11 3 13 @ 17 B 21



M WA Br+ 2y = 2001 F A (0. 1), (2.) 5 AL W, atb 9]

I

ol

B 7 @ 9 B 13

® 5



HHAAFABCD oA F tizZbA o] wH-e A D

0 @ 5}, /DBC = 30°, ZCAD = 60° & 'V
o, /BDC o] 27]=9
Aezﬂ
B C

@D 10° ® 20° ® 30° @ 40° ® 50°



4. o3& O"HA F M 2 AB 9] FH-o|,
MN //BC °|t}. a + b =2

®5 @6 O®7 @8 ®Y9




® 1






7.

e aga e
o, /x & 2717

AABC 4 AB = AC ¢

@D 45° ® 55° B 65° @ 175°

B 85°



ohe 27 FollA AZF ABCD = B3 At o] 2 4 gl A

® AD//BC,AB =DC

@ /A =/C,/B=/D

® /B+ /C =180° /A + /B = 180°

@ AO = CO,BO = DO(H 0+ thzt4d o] wolct,

® AD//BC,AB//DC



9. og 2" x 9] ZolE F5hH?

1 @2 ®3 @®4 O5




e
L

o) 5
o &

AD

/A 9] @)7te] o]

S
L

5[]
| © |:CD

&

(@]

< i
=
w;a.
9 |«
5 X
A/n_ﬂ
e
EIEN
C/
52




11.

Huo] H|7} 27 : 64 Q1 F+ A=

Zol7t 6em & o, Z A4

@D 2cm @ 4em

O
= 1

HA A 22 5

w70 g mAe] o] Zol

® 8cm @ 12cm

i_;
L

£ 73

©) 3 @A
52

3 16cm



12.

Al el Zol7t 6, 8 a o ARl =

=7 (Fa>8)

@ 8<a<14

@ a>9

® 10<a<14



ol

® 3 B 4 @ 5 B 6

@D 2



14.

g 28 H 07F 4ZrE ABC 9 €40l /ABO
20°, /AOC =100°¥ W], /x 2] 27]=?

@D 100° ® 105° 3 110° @ 115° B 120°



5. ¢ ¢ 13¥ e  FH Az
3 ABCD = ] B 7}
b o & ®oE  F A---F
e Ao e B
7 =y % = A A=
w9 B F
a1
B7]
@ aA’DE = ACDF © ED = BF = DF = BE
© ABEF = ADFE ® AE =BC-DF
® O @ 0,6 ® 9,06

® O, ©, 6 ® 6,0, 0,



